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46

POLYGONS

G.CO.C.11: PARATLLELOGRAMS

Quadrilateral ABCD has diagonals AC and BD.
Which information 1s not sufficient to prove ABCD

1s a parallelogram?

1 AC and BD bisect each other.
2 AB=CDandBC = AD

3 AB=CDand AB||CD

4 Ez@aﬂdﬁ”ﬁ

The diagram below shows parallelogram LMNO
with diagonal LN , m/M = 118°, and
m/INO =22°.

L

M
1187

0 22 N

Explain why ms/NLO 1s 40 degrees.

In the diagram below, ABCD is a parallelogram,
AB 15 extended through B to E, and CE 1s drawn.

D C

A B E

If CE = BE and ms/D = 112°, what is m/E?
1 44°

2 56°
3 68°
4 1120

11

S6+ 56446
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47 Quadrilateral ABCD with diagonals AC and BD is
shown in the diagram below.

B ’/ G

A 1 D

‘Which information is not enough to prove ABCD i1s
a parallelogram?
)% AB = CD and AB I DC

2 AB = CDand BC = DA

Q@) 4B=CDand 5C || 4D

A4~ AB|| DC and BC || AD

48 Inthe diagram FRED shown
below_, ED ii extended to 4, and AF is drawn such
that AF = DF.

F

R
(24

%S¢ \lkl
D

Ifms/R = 124° what 1s m/AFD?
1 124°
112#
4 56°
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49 In parallelogram QRST shown below, diagonal TR
1s drawn, U and V¥ are points on TS and QR
respectively, and UV intersects TR at 7.

T u S

Q v R

fmsS = 60°, m/SRT = 83°, and m/TWU = 35°,

what 18 m/WVQ?
1 37°
2 60°
3 02
4 83°

G.CO.C.11: SPECIAL QUADRILATERALS

50 A parallelogram must be a rectangle when 1ts
1  diagonals are perpendicular
@ diagonals are congruent
3 opposite sides are parallel
4  opposite sides are congruent

51 A parallelogram is always a rectangle if
the diagonals are congruent
2 the diagonals bisect each other
3 the diagonals intersect at right angles
4  the opposite angles are congruent

12

52 In parallelogram 4ABCD, diagonals AC and BD
intersect at E. Which statement does not prove

parallelogram ABCD is a thombus? 4
ic - b B

2 AB=BC

3 ACLDB

4 AC bisects ZDCB

53 In the diagram below, if AABE = A CDF and

AEFC 1s drawn, then it could be proven that
quadrilateral ABCD 1s a

1  square

2 rhombus

3 rectangle

4 parallelogram
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G.GPEB 4: QUADRILATERALS IN THE 56 A quadrilateral has vertices with coordinates
COORDINATE PLANE (-3,1), (0,3), (5.2), and (~1,-2). Which type of
quadrilateral 1s this?

54 Inrhombus MA4TH, the coordinates of the 1 rhombus
endpoints of the diagonal MT are M(0,—1) and 2 rectangle
T(4,6). Write an equation of the line that contains 3 square

i 4 trapezoid

diagonal A4H . [Use of the set of axes below 15
optional.] Using the given information, explain
how you know that your line contains diagonal
AH .
57 “Inthe coordinate plane, the vertices of ARST are
y R(6,-1), 5(1,—4), and T(-5,6). Prove that ARST is
| aright triangle. State the coordinates of pomt P
i such that quadrilateral RSTP is a rectangle. Prove
that your quadrilateral RSTP is a rectangle. [The
use of the set of axes below 1s optional ]
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55 Parallelogram ABCD has coordinates A(0,7) and
C(2,1). Which statement would prove that ABCD
18 a thombus?

1 The midpoint of AC is (1,4) ﬂ lape TS
e length o 15 ‘\/_
é::e :lofofigis _40 % C (a/ l> AY (0
<

4 The slope of 4B s

| =

Wil L
\
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58 The diagonals of rhombus TEAM intersect at G.GPE.B.7: POLYGONS IN THE COORDINATE
P(2,1). If the equation of the line that contains PLANE

diagonal T4 is y = —x + 3, what 1s the equation of a

line that contains diagonal EMP 60 Triangle RST is graphed on the set of axes below.

1 y=x-1 ¥
2 y=x-3

3 y=—=x-1 f
4 y=—=x-3

E \
59 Insquare GEOM, the coordinates of G are (2,-2) &
and the coordinates of O are (—4,2). Determine and

state the coordinates of vertices E and M. [The use
of the set of axes below is optional ]

¥ How many square units are in the area of ARST?

1 9.f3 415
2 95415
3 45
4 90

X 61 The coordinates of vertices 4 and B of A ABC are
1 A(3,4) and B(3,12). If the area of AABC is 24

square units, what could be the coordinates of point

c?

1 (3.6)
2 (8-3)
3 (-3.8)
4 (6,3

62 The endpoints of one side of a regular pentagon are
(-1,4) and (2,3). What is the perimeter of the

pentagon?
1 10
2 saf10
3 5.2
4 2542

14



